Figure 1—figure  supplement 2

A

Relative pupil area at time (x) after iteration time (y)
Os 1s 2s 7s

1000

100

—

0.01
Time (sec)

B | Negative feedback model |
1.04==mmmmmmmm e 88891 lux
8 0.01
5 0817 0.1
5}061
o 1
20.4-
g 10
o % 1%00
1oooo
o-o 1 1 L] L] L]
10 20 30 40 50 60
Time (seconds)
D E
1000+ 1 o). -Sustained PLR_ _
X ’ Right eye
= [43]
100 ~ ~ 0 -
< S ®© P =0.5671
21013 é@, B0 6-
— ': 3 -
F ]33 o §
o 17e% S 20.41
i %
0.14 o® D () 2-
° CC0'2
0.01 0.0 — 10 Jux
<
Q)(’\\ GQ} & Fe e
5\ N\ 8 \\ O Q*
& QO VSR
N
<& & e e
) o & &


samerhattar
Typewritten Text
Figure 1__figure supplement 2




